



Elemental solution of the ultrahyperbolic equation iterated m times

Solución elemental de la ecuación ultrahiperbólica iterada m veces

Manuel A. Aguirre^{1,*} and Emilio A. Aguirre²

¹ Universidad de Occidente. UDO-Managua, Dirección de Investigaciones, Nicaragua.

e-mail: manuel.aguirre48@gmail.com

² Universidad Nacional del Centro. Núcleo de Inteligencia Compartamental Empresarial-NICE. Facultad de Ciencias Exactas. Argentina.

received: 07-October-2022; accepted: 09-December-2022

ABSTRACT

Let $P(x)$ be a quadratic form defined by (1). We know from (Gelfand and Shilov 1964)) that the equation

$$L_P\{u(x_1, x_2, \dots, x_n)\} = f(x_1, \dots, x_n)$$

is often called ultrahyperbolic, where $P=P(x)$ is defined by (31) and L_P by (5). In this article we give a sense the elementary solution of the equation

$$L_P^m\{u(x_1, x_2, \dots, x_n)\} = f(x_1, \dots, x_n)$$

where L_P^m is the operator $L\{P\}$ iterated m- times. $L_P^m\{u(x_1, x_2, \dots, x_n)\} = f(x_1, \dots, x_n)$

Keywords: Distributions, equations, solution elementary, ultrahyperbolic

Classification MSC.: 46F10, 46F12.

RESUMEN

Sea $P(x)$ una forma cuadrática definida por (1). Sabemos de (Gelfand and Shilov 1964)) que la ecuación

$$L_P\{u(x_1, x_2, \dots, x_n)\} = f(x_1, \dots, x_n)$$

es con frecuencia llamada ultrahiperbólica, donde $P=P(x)$ es definida por by (31) y L_P por (5). En este artículo nosotros damos un sentido a la solución elemental de la ecuación

$$L_P^m\{u(x_1, x_2, \dots, x_n)\} = f(x_1, \dots, x_n)$$

donde L_P^m es el operador L_P iterado m veces.

Palabras claves: Distribuciones, ecuaciones, solución elemental, ultrahiperbólico

Clasificación según MSC.: 46F10, 46F12.

1. INTRODUCCIÓN

Let (x_1, x_2, \dots, x_n) be a point in the n -dimensional Euclidean space and let P be nondegenerate quadratic form defined by

$$P((x_1, x_2, \dots, x_n)) = x_1^2 + \dots + x_\mu^2 - x_{\mu+1}^2 - \dots - x_{\mu+v}^2 \quad (1)$$

where $\mu + v = n$ is the dimension of the space. The $P=0$ hypersurface is a hypercone with a singular point (the vertex) at the origin.

We defined the generalized function $\langle P_+^\lambda, \varphi \rangle$ where λ is a complex number, by the following form

$$\langle P_+^\lambda, \varphi \rangle = \int P^\lambda \varphi(x) dx, \text{ para } P > 0 \quad (2)$$

(Gelfand and Shilov, 1964), where $x = dx_1 \dots dx_n$, $\varphi \in C_0^\infty$ is the space of infinitely differentiable function with compact support. For $\text{Re}(\lambda) \geq 0$, the integral defined in (2) converges and are analytic function of λ .

Analytic continuation to $\text{Re}(\lambda) < 0$ can be used to extend the definition $\langle P_+^\lambda, \varphi \rangle$.

We know from (Gelfand and Shilov, 1964) that $\{P_+^\lambda\}$ have two sets of singularities, namely $\lambda = -k, k=1, 2, 3, \dots$ and $\lambda = -(n/2) - s, s=0, 1, 2, \dots$ and the following formulae are valid

$$\text{Res} P_+^{\lambda=-k} = (-1)^{k-1} \frac{1}{(k-1)!} \delta^{(k-1)}(P) \text{ if } n \text{ is odd } (\mu \text{ odd and } v \text{ even}), \quad (3)$$

$$\text{Res} P_+^{\lambda=-k} = (-1)^{k-1} \frac{1}{(k-1)!} \delta^{(k-1)}(P) \text{ if } n \text{ is even but } k < (n/2), \quad (4)$$

and

$$\text{Res} P_+^{\lambda=-\frac{n}{2}-s} = (-1)^{\frac{v}{2}} \pi^{\frac{n}{2}-s} \frac{L^s\{\delta\}}{s! 4^s \Gamma(\frac{n}{2}+s)} \text{ if } n \text{ is odd } (\mu \text{ odd and } v \text{ even}) \quad (5)$$

$$\text{Res} P_+^{\lambda=-k} = (-1)^{k-1} \frac{1}{(k-1)!} \delta^{(k-1)}(P) \text{ if } \mu \text{ and } v \text{ are both even } (n \text{ even}) \text{ and } k < (n/2), \quad (6)$$

$$\text{Res} P_+^{\lambda=-\frac{n}{2}-s} = (-1)^{\frac{v}{2}} \pi^{\frac{n}{2}-s} \frac{L^s\{\delta\}}{s! 4^s \Gamma(\frac{n}{2}+s)} \quad (7)$$

if μ and v are both even and $s \geq (n/2)$ (Gelfand and Shilov, 1964, page 353) and (Aguirre, 2010)

$$\text{Res} P_+^{\lambda=-k} = (-1)^{k-1} \frac{1}{(k-1)!} \delta^{(k-1)}(P) \quad (8)$$

if μ and v are both odd (n even) and $k < (n/2)$

$$\text{Res} P_+^{\lambda=-\frac{n}{2}-s} = (-1)^{\frac{v-1}{2}} \pi^{\frac{n-1}{2}-s} [\psi((\mu/2)) - \psi((n/2))] \frac{L^s\{\delta\}}{s! 4^s \Gamma(\frac{n}{2}+s)} \quad (9)$$

if μ and ν are both odd and $s \geq (n/2)$

where

$$\psi(h) = -\gamma + 1 + (1/2) + \dots + (1/(h-1)), h = 2, 3, \dots \quad (10)$$

$$\psi(h + (1/2)) = -\gamma - 2\ln 2 + 2(1 + (1/3) + \dots + (1/(2h-1))), h = 1, 2, 3, \dots \quad (11)$$

γ is the Euler's constant and

$$L = \sum_{i=1}^{\mu} \frac{\partial^2}{\partial x_i^2} - \sum_{i=\mu+1}^{\mu+\nu} \frac{\partial^2}{\partial x_i^2} \quad (12)$$

On the other hand, from (Aguirre, 2015) the Fourier transform of P_+^{λ} is given by the following formula

$$F\{P_+^{\lambda}\} = \pi^{\frac{n}{2}} 2^{2\lambda+n} \frac{\Gamma(\lambda+1)\Gamma(\lambda+(n/2))}{(\Gamma(1+\lambda+(n/2))\Gamma(-\lambda-(n/2)))} (Q(y))^{-\lambda-(n/2)} \quad (13)$$

if $Q(y) > 0$, where $F\{f(x)\} = \int_{R^n} e^{-i\langle x, s \rangle} f(x) dx$, (14)

$$\langle x, s \rangle = x_1 s_1 + \dots + x_n s_n \quad (15)$$

and

$$Q(y_1, y_2, \dots, y_n) = y_1^2 + \dots + y_{\mu}^2 - y_{\mu+1}^2 - \dots - y_{\mu+\nu}^2. \quad (16)$$

Now, from (Gelfand and Shilov, 1964), page 258-259 we have the following formula

$$\begin{aligned} L^m\{P^{\lambda+m}\} &= \\ &= 2^{2m}(\lambda+1)\dots(\lambda+m)(\lambda+(n/2))(\lambda+(n/2)+1)\dots(\lambda+(n/2)+m-1)P^{\lambda} \end{aligned} \quad (17)$$

2. GENERAL CONSIDERATION

In this article we obtain elementary solution of the equation $L_p^m\{u(x_1, x_2, \dots, x_n)\} = f(x_1, x_2, \dots, x_n)$ taking into account the dimension of the space. First considering the cases n odd and the condition $m < n/2$ and the case $m > n/2$. Finally we are going to study the case n even if $m \geq (n/2)$ or $m \geq (\frac{n}{2})$, $m < n/2$ and considering μ and ν both even and μ and ν both odd.

3. ELEMENTARY SOLUTIONS OF THE EQUATION

$$L_p^m\{u\} = f(x_1, \dots, x_n)$$

Let L_p be the operator defined by (11), we are going to study elementary solutions of the equation of the form

$$L_p^m\{u(x_1, x_2, \dots, x_n)\} = f(x_1, x_2, \dots, x_n) \quad (18)$$

We know that E is elementary solution of (18) if

$$L_p^m\{E(x_1, x_2, \dots, x_n)\} = \delta(x) = \delta(x_1, x_2, \dots, x_n). \quad (19)$$

From(18), we have

$$F\{L_p^m\{E\}\} = F\{\delta(x)\} = 1, \quad (20)$$

therefore

$$F\{E\} = (-1)^m (Q(y))^{-m}. \quad (21)$$

Now we are going to obtain the elementary solutions E of the equation (18). From(8), we have

$$(Q(y))^{-\lambda - \frac{n}{2}} = \frac{\Gamma(1+\lambda+(v/2))\Gamma(-\lambda-(v/2))}{\pi^{\frac{n}{2}} 2^{2\lambda+n} \Gamma(1+\lambda)\Gamma(\lambda+(n/2))} F\{P_+^\lambda\} \quad (22)$$

Now using the definition of inverse of the Fourier transform

$$F^{-1}\{f(x)\} = \int_{R^n} e^{-i\langle x, s \rangle} F\{f(x)\}(s) ds \quad (23)$$

From(21), we have

$$E = F^{-1}\{(-1)^{-m} (Q(y))^{-m}\} \quad (24)$$

Now we are going to study (22) considering that P_+^λ and $((Q(y))^\lambda)$ have poles at $\lambda = -(n/2) - j, j = 0, 1, 2, \dots$ and $\lambda = -k, k = 1, 2, 3, \dots$

2.1:Case1: n odd

2.1.1.: $m < \frac{n}{2}$. In this case $m \neq (n/2) - j, j = 0, 1, 2, \dots$, P_+^λ is regular at $\lambda = m - (n/2)$, but $((Q(y))^{-\lambda - (n/2)})$ at $\lambda = m - (n/2)$, has simple poles.

Therefore the values of the function $((Q(y))^\alpha)$ at $\alpha = -m$ which we shall call finite part of $((Q(y))^\alpha)$ at $\alpha = -m$ correspond to regular part of the Laurent expansion of $((Q(y))^\alpha)$ about $\alpha = -m$, namely

$$Q^m |_{\alpha = -m} = Q^{-m} = P. f\{((Q(y))^\alpha)\}_{\alpha = -m} = \lim_{\alpha \rightarrow -m} \left(\frac{\partial}{\partial \alpha}\right) (\alpha + m) ((Q(y))^\alpha) \text{ for } m < (n/2), \quad (25)$$

therefore, from (22) and (24) we have,

$$E = F^{-1}\{(-1)^{-m} ((Q(y))^{-m})\} = \frac{(-1)^m \Gamma((n/2) - m)}{2^{2m} \pi^{\frac{n}{2}} \Gamma(m) (-1)^{\frac{n}{2}}} P_+^{m - \frac{n}{2}}. \quad (26)$$

It's clear that E defined by (26) verify the property (19). In fact, using the property (17) and the formula.

$$\Gamma(\lambda + m + 1) / \Gamma(\lambda + 1) = (\lambda + 1) \dots (\lambda + m) \quad (\text{A.Erdelyi, 1953, pages 3-4}). \quad (27)$$

we have

$$\begin{aligned}
 L_P^m \{P_+^{\lambda+m}\} &= \\
 &= 2^{2m} (\lambda + 1) \dots (\lambda + m) (\lambda + (n/2)) (\lambda + (n/2) + 1) \dots (\lambda + (n/2) + m - 1) P_+^\lambda \\
 &= 2^{2m} \frac{(\Gamma(\lambda+m+1))}{(\Gamma(\lambda+1))} \cdot \left(\left(\lambda + \left(\frac{n}{2} \right) + 1 \right) \dots \left(\lambda + \left(\frac{n}{2} \right) + m - 1 \right) \right) \left[\left(\lambda + \left(\frac{n}{2} \right) \right) P_+^\lambda \right].
 \end{aligned} \tag{28}$$

By putting $\lambda = -(n/2)$ in (28) and using the formula (3) we have

$$\begin{aligned}
 \lim_{\lambda \rightarrow -\frac{n}{2}} 2^{2m} \frac{(\Gamma(\lambda+m+1))}{(\Gamma(\lambda+1))} \cdot [(1.2 \dots m - 1)]. \\
 \cdot \lim_{\lambda \rightarrow -\frac{n}{2}} \left[\left(\lambda + \left(\frac{n}{2} \right) \right) P_+^\lambda \right]
 \end{aligned} \tag{29}$$

From (26), (29) and using the formula $\Gamma(z)\Gamma(1-z) = (\pi/(\sin(\pi z)))$ (A. Erdelyi, pages 3 – 4), we obtain

$$L_P^m \{E\} = \delta(x). \tag{30}$$

Therefore E define by (26) for the case n odd is elementary solution of the equation (18).

2.1.2.: n odd, $m > (\frac{n}{2})$. In this case $(Q(y))^{-\lambda-(n/2)}$ at $\lambda = m-(n/2)$, has simple poles. Therefore the values of the function Q^Y at $\gamma = -m$ we means finite part of Q^Y at $\gamma = -m$, and correspond to regular part of the Laurent expansion of Q^Y about $\gamma = -m$, namely

$$Q^Y = \dots \frac{A_{-1}}{(\gamma+m)} + A_0 + \sum_{j \geq 0} A_j (\gamma + m)^j \tag{31}$$

Where

$$\begin{aligned}
 A_0 &= Q^Y |_{\gamma=-m} = Q^{-m} = P. f \{Q^Y\}_{\gamma=-m} = \\
 &= \lim_{\gamma \rightarrow -m} \partial / (\partial \gamma) [(\gamma + m) Q^Y] \text{ for } m > (n/2)
 \end{aligned} \tag{32}$$

It should be emphasized that the generalized function $\{Q^{-m}\}$ is not the value of $\{Q^Y\}$ at $\gamma = -m$, Q^{-m} has a simple poles and therefore does not exist at this point. Nevertheless the function $\{Q^{-m}\}$ is in a certain sense a regularization of the ordinary function Q^{-m} .

Similarly from (25) and (26), we obtain the following formula

$$E = F^{-1} \{(-1)^{-m} Q^{-m}\} = (-1)^{-m} \frac{\Gamma((n/2)-m)}{2^{2m} \pi^{n/2} \Gamma(m) (-1)^{\frac{n}{2}}} P_+^{m-\frac{n}{2}} \text{ if } n \text{ is odd and } m > (n/2), \tag{33}$$

where

$$F\{P_+^\lambda\} = \pi^{\frac{n}{2}} 2^{2\lambda+n} \frac{\Gamma(\lambda+(n/2))(-1)^{\frac{v}{2}}}{\Gamma(-\lambda)} (Q(y))^{-\lambda-(n/2)} \text{ if } v \text{ is even and } \mu \text{ odd} \tag{34}$$

and

$$F\{P_+^\lambda\} = \pi^{\frac{n}{2}} 2^{2\lambda+n} \frac{\Gamma(\lambda + (n/2))\Gamma(\lambda + 1)(-1)^{\frac{\nu-1}{2}}}{\pi} \cos(-\lambda)\pi. (-1)(Q(y))^{-\lambda-(n/2)}$$

if ν is odd and μ even; $\nu+\mu=n$ dimension of the space. (35)

2.2 :Case 2: n even

2.2.1.: n even, μ and ν are both even and $m < (n/2)$. In this case $m=1,2,3,\dots,(n/2)-1$, $Q^{-(n/2)-\lambda}$ and $\{P_+^\lambda\}$ have simple poles at $\lambda=m-(n/2)$ therefore Q^{-m} is finite part of Q^γ at $\gamma=-m$, and $P_+^{-(n/2)-m}$ is finite part of $\{P_+^\lambda\}$ at $\lambda=-(n/2)-m$. From (24), using (34) and (35), we have

$$\begin{aligned} (Q(y))^{-\lambda-(n/2)} |_{\lambda=m-(n/2)} &= P. f \{Q^\gamma\}_{\gamma=-m} = \lim_{\gamma \rightarrow -m} \partial/(\partial\gamma)[(\gamma + m)Q^\gamma] = \\ &= \lim_{\gamma \rightarrow -m} \partial/(\partial\gamma)[(\gamma + m)C_{\gamma,n} F\{P_+^{-\gamma-\frac{n}{2}}\}] \end{aligned} \quad (36)$$

where

$$C_{\gamma,n} = \frac{\Gamma(\gamma+(n/2))}{(-1)^{\frac{\nu}{2}} \pi^{\frac{n}{2}} 2^{-2\gamma} \Gamma(-\lambda)} \quad (37)$$

From (36) and (37), we have

$$\begin{aligned} (Q(y))^{-m} &= \lim_{\gamma \rightarrow -m} C_{\gamma,n} \partial/(\partial\gamma)[(\gamma + m)F\{P_+^{-\gamma-\frac{n}{2}}\}] + \\ &+ \lim_{\gamma \rightarrow -m} [(\gamma + m)F\{P_+^{-\gamma-\frac{n}{2}}\} \partial/(\partial\gamma)C_{\gamma,n}] \end{aligned} \quad (38)$$

Now taking into account that

$$\begin{aligned} \lim_{\gamma \rightarrow -m} \partial/(\partial\gamma)[(\gamma + m)\{P_+^{-\gamma-\frac{n}{2}}\}] &= \\ \lim_{\lambda \rightarrow -(\frac{n}{2}-m)} \partial/(\partial\lambda)[(\lambda + (\frac{n}{2} - m))\{P_+^\lambda\}] &= P. f \{P_+^\lambda\}_{\lambda=-(\frac{n}{2}-m)} \end{aligned} \quad (39)$$

and

$$\begin{aligned} \lim_{\gamma \rightarrow -m} (\gamma + m) P_+^{-\gamma-\frac{n}{2}} &= \lim_{\lambda \rightarrow -(\frac{n}{2}-m)} (\lambda + (\frac{n}{2} - m)) P_+^\lambda = \\ &= \frac{(-1)(-1)^{\frac{n}{2}-m-1}}{(\frac{n}{2}-m-1)!} \delta^{(\frac{n}{2}-m-1)}(P). \end{aligned} \quad (40)$$

we have

$$(Q(y))^{-m} = \lim_{\gamma \rightarrow -m} C_{\gamma,n} \partial/(\partial\gamma)[(\gamma + m)F\{P_+^{-\gamma-\frac{n}{2}}\}] + \\ + \lim_{\gamma \rightarrow -m} [(\gamma + m)F\{P_+^{-\gamma-\frac{n}{2}}\} \partial/(\partial\gamma)C_{\gamma,n}].$$

$$\cdot \left[\lim_{\gamma \rightarrow -m} \left[\frac{2^{2\gamma} 2 \ln 2 \Gamma(\gamma + \frac{n}{2}) + 2^{2\gamma} \frac{d}{d\gamma} \Gamma(\gamma + \frac{n}{2})}{\Gamma(-\gamma)} \right] + \lim_{\gamma \rightarrow -m} \left[\frac{2^{2\gamma} \Gamma(\gamma + \frac{n}{2}) \frac{d}{d\gamma} \Gamma(-\gamma)}{(\Gamma(-\gamma))^2} \right] \right] = \\ = \left[\frac{2^{-2m} 2 \ln 2 \Gamma(-m + \frac{n}{2})}{\Gamma(-m + \frac{n}{2})} \right] \cdot F \left\{ p.f. P_+^{-\left(\frac{n}{2}-m\right)} \right\} + \\ + \pi^{-\frac{n}{2}} (-1)^{-\frac{v}{2}} F \left\{ \frac{(-1)(-1)^{\frac{n}{2}-m-1}}{\left(\frac{n}{2}-m-1\right)!} \delta\left(\frac{n}{2}-m-1\right)(P) \right\} \cdot \left[\frac{2^{-2m} 2 \ln 2 \Gamma(-m + \frac{n}{2}) + 2^{2\gamma} \Gamma(\frac{n}{2}-m)}{\Gamma(m)} \right] + \left[\frac{2^{-2m} \Gamma(\frac{n}{2}-m) \Gamma(m)}{(\Gamma(m))^2} \right] \right] \\ (41)$$

From (41) have,

$$F^{-1}\{(-1)^m Q^{-m}\} = (-1)^m \frac{\Gamma((n/2)-m)}{2^{2m} \pi^{\frac{n}{2}} \Gamma(m) (-1)^{\frac{v}{2}}} \{p.f. P_+^{-\left(\frac{n}{2}-m\right)}\} + \\ + \frac{(-1)^m 2^{-2m} \pi^{-\frac{n}{2}} (-1)^{\frac{n}{2}} (-1)^{-\frac{v}{2}}}{\Gamma(m)} [2 \ln 2 + \psi((n/2)-m) + \psi(m)] \delta\left(\frac{n}{2}-m-1\right)(P)$$

if n is even, μ and v are both even,

(42)

where

$$\psi(z) = \frac{\Gamma'(z)}{\Gamma(z)} \quad ((\text{Erdelyi A. 1953, pages 3-4})). \quad (43)$$

From (24) and considering the formula (31) we obtain that

$$E = F^{-1}\{(-1)^{-m} Q(y)^{-m}\} = (-1)^m \frac{\Gamma((n/2)-m)}{2^{2m} \pi^{\frac{n}{2}} \Gamma(m) (-1)^{\frac{v}{2}}} \{p.f. P_+^{-\left(\frac{n}{2}-m\right)}\} + \\ + \frac{(-1)^m 2^{-2m} \pi^{-\frac{n}{2}} (-1)^{\frac{n}{2}} (-1)^{-\frac{v}{2}}}{\Gamma(m)} [2 \ln 2 + \psi((n/2)-m) + \psi(m)] \delta\left(\frac{n}{2}-m-1\right)(P) \quad (44)$$

is elementary solution of the equation (18) for n even and $m < (n/2)$.

2.2.2.: n even, μ and ν are even odd and $m \geq (n/2)$. In this case $(Q(y))^{-\lambda-(n/2)}$ has simple poles at $\lambda=m-(n/2)$ and P_+^λ is regular a $\lambda=m-(n/2)$, therefore $Q(y)^{-m}$ is finite part of $(Q(y))^\gamma$ at $\gamma=-m$.

$$\begin{aligned}
 & Q^{\lambda-\frac{n}{2}} \Big|_{\lambda=m-\frac{n}{2}} = (Q(y))^{-m} = P.f \{Q^\gamma\}_{\gamma=-m} = \\
 & = \lim_{\gamma \rightarrow -m} \partial / \partial \gamma \left[\frac{(\gamma+m)\Gamma\left(\gamma+\left(\frac{n}{2}\right)\right)}{(-1)^{\frac{\nu}{2}} \pi^{\frac{n}{2}} 2^{-2\gamma}\Gamma(-\lambda)} F\{P_+^{-\gamma-\frac{n}{2}}\} \right] = \\
 & = \lim_{\gamma \rightarrow -m} \left\{ \frac{(-1)^{\frac{\nu}{2}} \pi^{\frac{n}{2}} 2^{-2\gamma}\Gamma(-\lambda) \cdot \partial / \partial \gamma [(\gamma+m)\Gamma\left(\gamma+\left(\frac{n}{2}\right)\right) F\{P_+^{-\gamma-\frac{n}{2}}\}] - [(\gamma+m)\Gamma\left(\gamma+\left(\frac{n}{2}\right)\right) F\{P_+^{-\gamma-\frac{n}{2}}\}] \cdot \partial / \partial \gamma [(-1)^{\frac{\nu}{2}} \pi^{\frac{n}{2}} 2^{-2\gamma}\Gamma(-\lambda)]}{[(-1)^{\frac{\nu}{2}} \pi^{\frac{n}{2}} 2^{-2\gamma}\Gamma(-\lambda)]^2} \right\} \\
 & = \lim_{\lambda \rightarrow -m} \frac{1}{\pi^{\frac{n}{2}} 2^{-2\gamma}\Gamma(-\gamma)(-1)^{\frac{\nu}{2}}} \lim_{\lambda \rightarrow -m} \partial / \partial \gamma [(\gamma+m)\Gamma\left(\gamma+\left(\frac{n}{2}\right)\right) F\{P_+^{-\gamma-\frac{n}{2}}\}] + \\
 & + \lim_{\gamma \rightarrow -m} (\gamma+m)\Gamma\left(\gamma+\left(\frac{n}{2}\right)\right) F\{P_+^{-\gamma-\frac{n}{2}}\} \ln P_+ \cdot (-1)^{-\frac{\nu}{2}} - \\
 & - \lim_{\gamma \rightarrow -m} (\gamma+m)\Gamma\left(\gamma+\left(\frac{n}{2}\right)\right) F\{P_+^{-\gamma-\frac{n}{2}}\} \cdot \left[\frac{\pi^{\frac{n}{2}} 2^{-2\gamma}\Gamma(-\gamma)(-1)^{\frac{\nu}{2}} + \pi^{\frac{n}{2}} 2^{-2\gamma}\Gamma(-\gamma)(-1)(-1)^{\frac{\nu}{2}}}{(\pi^{\frac{n}{2}} 2^{-2\gamma}\Gamma(-\gamma)(-1)^{\frac{\nu}{2}})^2} \right] \quad (45)
 \end{aligned}$$

Now, using the following properties

$$\begin{aligned}
 & \lim_{\gamma \rightarrow -m} (\gamma+m)\Gamma\left(\gamma+\left(\frac{n}{2}\right)\right) = (\gamma+m)\gamma(\gamma+1)\dots\left(\gamma+\frac{n}{2}-1\right)\Gamma(\gamma) = \\
 & ((-1)^{\frac{n}{2}}(-\gamma)(-\gamma-1)\dots(-\gamma-\frac{n}{2}+1)(\gamma+m)\Gamma(\gamma) = \\
 & = \lim_{\gamma \rightarrow -m} \frac{(-1)^{\frac{n}{2}}\Gamma(1-\gamma)}{\Gamma(-\gamma-\frac{n}{2}+1)} (\gamma+m)\Gamma(\gamma) = \\
 & = \frac{(-1)^{\frac{n}{2}}\Gamma(1+m)}{\Gamma(m-\frac{n}{2}+1)} \operatorname{res}_{\gamma=-m} \Gamma(\gamma) = \frac{(-1)^{\frac{n}{2}}\Gamma(1+m)}{\Gamma(m-\frac{n}{2}+1)} \cdot \frac{(-1)^m}{m!} = \frac{(-1)^{\frac{n}{2}}(-1)^m}{\Gamma(m-\frac{n}{2}+1)} \quad (46)
 \end{aligned}$$

for n even and $m \geq (n/2)$ and

$$\begin{aligned}
 & \lim_{\gamma \rightarrow -m} \partial / \partial \gamma [(\gamma+m)\Gamma\left(\gamma+\left(\frac{n}{2}\right)\right)] = \lim_{\gamma \rightarrow -m} \partial / \partial \gamma [(\gamma+m)\Gamma(\gamma)] \frac{(-1)^{\frac{n}{2}}\Gamma(1-\gamma)}{\Gamma(-\gamma-\frac{n}{2}+1)} = \\
 & = \lim_{\gamma \rightarrow -m} \{(\gamma+m)\Gamma(\gamma) \left[\frac{\Gamma(-\gamma-\frac{n}{2}+1) \cdot \frac{\partial}{\partial \gamma} [(-1)^{\frac{n}{2}}\Gamma(1-\gamma)] - (-1)^{\frac{n}{2}}\Gamma(1-\gamma) \cdot \frac{\partial}{\partial \gamma} \Gamma(-\gamma-\frac{n}{2}+1)}{(\Gamma(-\gamma-\frac{n}{2}+1))^2} \right] \} +
 \end{aligned}$$

$$\begin{aligned}
& + \frac{(-1)^{\frac{n}{2}} \Gamma(1-\gamma)}{\Gamma(-\gamma-\frac{n}{2}+1)} \partial / \partial \gamma [(\gamma+m)\Gamma(\gamma)] = \\
& = \text{Res}_{\gamma=-m} \Gamma(\gamma) \cdot \left[\frac{\Gamma(m-\frac{n}{2}+1) ((-1)^{\frac{n}{2}} \Gamma(1+m) (-1) - (-1)^{\frac{n}{2}} \Gamma(1+m) (-1) \Gamma(m-\frac{n}{2}+1)}{(\Gamma(m-\frac{n}{2}+1))^2} \right] + \\
& + \frac{(-1)^{\frac{n}{2}} \Gamma(1+m)}{\Gamma(m-\frac{n}{2}+1)} \text{P.f.} \{ \Gamma(\gamma) \}_{\gamma=-m} = (-1) (-1)^m \psi(1+m) \frac{(-1)^{\frac{n}{2}}}{\Gamma(m-\frac{n}{2}+1)} - \frac{(-1)^m}{m!} \left[\frac{(-1)^{\frac{n}{2}} \Gamma(1+m) (-1) \Gamma(m-\frac{n}{2}+1)}{(\Gamma(m-\frac{n}{2}+1))^2} \right] + \\
& \frac{(-1)^{\frac{n}{2}} \Gamma(1+m) (-1)^m}{\Gamma(m-\frac{n}{2}+1) m!} \psi(1+m) = (-1)^m \frac{(-1)^{\frac{n}{2}}}{\Gamma(m-\frac{n}{2}+1)} \left[\psi(1+m) + \psi\left(m-\frac{n}{2}+1\right) - \psi(1+m) \right] = \\
& = (-1)^m \frac{(-1)^{\frac{n}{2}}}{\Gamma(m-\frac{n}{2}+1)} \psi\left(m-\frac{n}{2}+1\right) \tag{47}
\end{aligned}$$

where $\psi(z)$ is defined by (43). From (45) and using (47) we have

$$\begin{aligned}
& Q^{\lambda-\frac{n}{2}} \Big|_{\lambda=m-\frac{n}{2}} = Q(y)^{-m} = \lim_{\gamma \rightarrow -m} \partial / (\partial \gamma) [(\gamma+m)Q(y)^\gamma] = \\
& = \frac{1}{(-1)^{\frac{n}{2}} \Gamma(m) \pi^{\frac{n}{2}}} \left\{ \frac{(-1)^m}{m!} \psi(1+m) 2^{-2m} F \left\{ P_+^{m-\frac{n}{2}} \right\} + \frac{(-1)^m}{m!} 2^{-2m} 2 \ln 2 F \left\{ P_+^{m-\frac{n}{2}} \right\} + \right. \\
& + \frac{(-1)^m}{m!} 2^{-2m} (-1) F \left\{ P_+^{m-\frac{n}{2}} \ln P_+ \right\} - \frac{(-1)^m 2^{-2m}}{(-1)^{\frac{n}{2}} \Gamma(m) \pi^{\frac{n}{2}}} F \left\{ P_+^{m-\frac{n}{2}} \right\} (-1) \frac{\Gamma'(m)}{\Gamma(m) \Gamma(m)} = \\
& \quad \frac{(-1)^{m-\frac{n}{2}}}{(m-\frac{n}{2})!} \frac{2^{-2m}}{(-1)^{\frac{n}{2}} \Gamma(m) \pi^{\frac{n}{2}}} \left\{ \psi\left(m-\frac{n}{2}+1\right) F \left\{ P_+^{m-\frac{n}{2}} \ln P_+ \right\} + \right. \\
& + 2 \ln 2 F \left\{ P_+^{m-\frac{n}{2}} \right\} - F \left\{ P_+^{m-\frac{n}{2}} \ln P_+ \right\} + \psi(m) F \left\{ P_+^{m-\frac{n}{2}} \right\} \Big\} = \\
& = \frac{(-1)^{m-\frac{n}{2}}}{(m-\frac{n}{2})!} \frac{2^{-2m}}{(-1)^{\frac{n}{2}} \Gamma(m) \pi^{\frac{n}{2}}} \left\{ \left[\psi\left(m-\frac{n}{2}+1\right) + 2 \ln 2 + \psi(m) \right] F \left\{ P_+^{m-\frac{n}{2}} \right\} + F \left\{ P_+^{m-\frac{n}{2}} \ln P_+ \right\} \right\} \tag{48}
\end{aligned}$$

where $\psi(z)$ is defined by (43). From (24) and considering (48), we obtain that

$$\begin{aligned}
& E = F^{-1} \{ (-1)^{-m} Q(y)^{-m} \} = \frac{(-1)^{m-\frac{n}{2}}}{(m-\frac{n}{2})!} \frac{2^{-2m}}{(-1)^{\frac{n}{2}} \Gamma(m) \pi^{\frac{n}{2}}} P_+^{m-\frac{n}{2}} + \\
& + \left[\psi\left(m-\frac{n}{2}+1\right) + 2 \ln 2 + \psi(m) \right] P_+^{m-\frac{n}{2}} - P_+^{m-\frac{n}{2}} \ln P_+ \tag{49}
\end{aligned}$$

is elementary solution of the equation (18) for n even (μ and ν are both even) and $m \geq (n/2)$, where

$$L_P^m = \left(\sum_{i=1}^{\mu} \frac{\partial^2}{\partial x_i^2} \right)^m - \left(\sum_{i=\mu+1}^{\mu+\nu} \frac{\partial^2}{\partial x_i^2} \right)^m \quad (50)$$

2.2.3.: n even, $m \geq (n/2)$, μ and ν odd. In this case $m = (n/2), (n/2)+1, (n/2)+2, \dots$, $Q^{-\lambda-\frac{n}{2}}$ has simple poles of order two at $\lambda = m - (n/2)$ and P_+^λ is regular at $\lambda = m - (n/2)$. Therefore Q^{-m} is the finite part of $Q^{-\lambda-\frac{n}{2}}$ at $\lambda = m - (n/2)$, i.e.

$$\begin{aligned} Q^{\lambda-\frac{n}{2}} \Big|_{\lambda=m-\frac{n}{2}} &= (Q(y))^{-m} = \text{P.f} \{Q^\gamma\}_{\gamma=-m} = \\ &= \frac{1}{2} \lim_{\gamma \rightarrow -m} \frac{\partial^2}{\partial \gamma^2} (\gamma + m)^2 (Q(y))^\gamma. \end{aligned} \quad (51)$$

Using (22), for $m \geq (n/2)$, we have

$$\begin{aligned} \left(\frac{\partial}{\partial \gamma} \right) [(\gamma + m)^2 (Q(y))^\gamma] &= \frac{1}{(-1)(-1)^{\frac{\nu-1}{2}} \frac{n}{\pi^2-1}} \frac{\partial}{\partial \gamma} \left\{ \frac{((\gamma+m)^2 F\{P_+^{-\gamma-(n/2)}\})}{2^{-2\gamma} (\Gamma(-\gamma)\Gamma(1-\gamma-(n/2)) \cos(\gamma+(n/2)\pi))} \right\} = \\ &= \frac{1}{(-1)(-1)^{\frac{\nu-1}{2}} \frac{n}{\pi^2-1}} \{(\gamma + m)^2 \cdot \frac{\partial}{\partial \gamma} \left[\frac{F\{P_+^{-\gamma-(n/2)}\}}{2^{-2\gamma} (\Gamma(-\gamma)\Gamma(1-\gamma-(\frac{n}{2})) \cos(\gamma+(\frac{n}{2})\pi))} \right] + \right. \\ &+ \left. \frac{F\{P_+^{-\gamma-(n/2)}\}}{2^{-2\gamma} (\Gamma(-\gamma)\Gamma(1-\gamma-(\frac{n}{2})) \cos(\gamma+(\frac{n}{2})\pi))} \cdot [2(\gamma + m)] \right\} \end{aligned}$$

and

$$\begin{aligned} (1/2)((\partial^2)/(\partial \gamma^2))[(\gamma + m)^2 (Q(y))^\gamma] &= \\ &= \frac{1}{(-1)(-1)^{\frac{\nu-1}{2}} \frac{n}{\pi^2-1}} \{(\gamma + m)^2 \cdot \frac{\partial^2}{\partial \gamma^2} \left[\frac{F\{P_+^{-\gamma-(n/2)}\}}{2^{-2\gamma} (\Gamma(-\gamma)\Gamma(1-\gamma-(\frac{n}{2})) \cos(\gamma+(\frac{n}{2})\pi))} \right] + \right. \\ &+ \frac{\partial}{\partial \gamma} \left[\frac{F\{P_+^{-\gamma-(n/2)}\}}{2^{-2\gamma} (\Gamma(-\gamma)\Gamma(1-\gamma-(\frac{n}{2})) \cos(\gamma+(\frac{n}{2})\pi))} \right] (2(\gamma + m)) + \\ &+ 2 \cdot \left[\frac{F\{P_+^{-\gamma-(n/2)}\}}{2^{-2\gamma} (\Gamma(-\gamma)\Gamma(1-\gamma-(\frac{n}{2})) \cos(\gamma+(\frac{n}{2})\pi))} \right] + \\ &\left. (2(\gamma + m)) \left[\frac{F\{P_+^{-\gamma-(n/2)}\}}{2^{-2\gamma} (\Gamma(-\gamma)\Gamma(1-\gamma-(\frac{n}{2})) \cos(\gamma+(\frac{n}{2})\pi))} \right] \right\}, \end{aligned} \quad (52)$$

therefore

$$\frac{1}{2} \lim_{\gamma \rightarrow -m} \frac{\partial^2}{\partial \gamma^2} (\gamma + m)^2 (Q(y))^\gamma = \frac{1}{2} \frac{1}{(-1)(-1)^{\frac{\nu-1}{2}} \frac{n}{\pi^2-1}}.$$

$$\lim_{\gamma \rightarrow -m} \left[\frac{F\{P_+^{-\gamma-(n/2)}\}}{2^{-2\gamma} \left(\Gamma(-\gamma) \Gamma\left(1 - \gamma - \left(\frac{n}{2}\right)\right) \cos\left(\gamma + \left(\frac{n}{2}\right)\pi\right)\right)} \right] 2 =$$

$$= \frac{1}{(-1)(-1)^{\frac{v-1}{2}} \pi^{\frac{n}{2}-1}} \cdot \left[\frac{F\{P_+^{m-(n/2)}\}}{2^{2m} \left(\Gamma(m) \Gamma\left(1+m - \left(\frac{n}{2}\right)\right) (-1)^{m-\frac{n}{2}} \right)} \right] \quad (53)$$

From (24) and considering (51), we obtain that

$$E = F^{-1}\{-1\}^{-m} (Q(y))^{-m} = \frac{1}{(-1)(-1)^{\frac{v-1}{2}} \pi^{\frac{n}{2}-1}} \cdot \left[\frac{F\{P_+^{m-(n/2)}\}}{2^{2m} \left(\Gamma(m) \Gamma\left(1+m - \left(\frac{n}{2}\right)\right) (-1)^{m-\frac{n}{2}} \right)} \right] \quad (54)$$

is elementary solution of the equation (18) for n even (μ and ν are both odd) and $m \geq (n/2)$.

2.2.4.: n even, $m < (n/2)$, μ and ν odd. We know from ((Gelfand and Shilov, 1964), page 352), that if μ and ν are both odd, the generalized function P_+^λ has simple poles at $\lambda = -1, -2, \dots, -(n/2)-1$ and poles of second order at $\lambda = -(n/2)-s, s=0, 1, 2, \dots$

Now taking into account that $m < (n/2)$, then $m \neq (n/2)+s, s=0, 1, 2, \dots$ and the distributions $Q^{-\lambda-\frac{n}{2}}$ and P_+^λ have simple poles at $\lambda = m - (n/2)$.

On the other hand using the formula

$$\Gamma(z)\Gamma(1-z) = \frac{\pi}{\sin(z\pi)} \quad (55)$$

the formula (22) can be rewritten in the following form

$$(Q(y))^{-\lambda-\frac{n}{2}} = a_{\nu,\pi} \frac{\sin(\lambda\pi)\Gamma(-\lambda)}{2^{2\lambda+n}(\cos(\lambda\pi)\Gamma(\lambda+(n/2)))} F\{P_+^\lambda\} \quad (56)$$

where

$$a_{\nu,\pi} = \frac{1}{(-1)(-1)^{\frac{v-1}{2}} \pi^{\frac{n}{2}-1}} \quad (57)$$

Now taking into account the definition of finite part of $(Q(y))^{-\lambda-\frac{n}{2}}$ at $\lambda = m - (n/2)$ for $m < (n/2)$, we have

$$Q^{\lambda-\frac{n}{2}} \Big|_{\lambda=m-\frac{n}{2}} = (Q(y))^{-m} = \text{P.f} \{Q^{-\lambda-\frac{n}{2}}\}_{\lambda=m-\frac{n}{2}} = \lim_{\lambda \rightarrow -(\frac{n}{2}-m)} \frac{\partial}{\partial \gamma} \left(\lambda + \frac{n}{2} - m \right) (Q(y))^\gamma =$$

$$= a_{\nu,\pi} \lim_{\lambda \rightarrow -(\frac{n}{2}-m)} \frac{\partial}{\partial \gamma} \left\{ \frac{\sin(\lambda\pi)\Gamma(-\lambda)}{2^{2\lambda+n}(\cos(\lambda\pi)\Gamma(\lambda+(n/2)))} \left(\lambda + \frac{n}{2} - m \right) F\{P_+^\lambda\} \right\}$$

$$= a_{\nu,\pi} \lim_{\lambda \rightarrow -(\frac{n}{2}-m)} \left\{ \frac{2^{2\lambda+n}(\cos(\lambda\pi)\Gamma(\lambda+(\frac{n}{2}))) \cdot \frac{\partial}{\partial \gamma} [\sin(\lambda\pi)\Gamma(-\lambda)(\lambda+\frac{n}{2}-m)F\{P_+^\lambda\}]}{[2^{2\lambda+n}(\cos(\lambda\pi)\Gamma(\lambda+(n/2)))]^2} - \right.$$

$$\left. - \frac{[\sin(\lambda\pi)\Gamma(-\lambda)(\lambda+\frac{n}{2}-m)F\{P_+^\lambda\}] \cdot \frac{\partial}{\partial \gamma} [2^{2\lambda+n}(\cos(\lambda\pi)\Gamma(\lambda+(n/2)))]}{[2^{2\lambda+n}(\cos(\lambda\pi)\Gamma(\lambda+(n/2))]^2} \right\} =$$

$$a_{\nu,\pi} \lim_{\lambda \rightarrow -(\frac{n}{2}-m)} \left\{ \frac{\pi \cos(\lambda\pi)\Gamma(-\lambda)(\lambda+\frac{n}{2}-m)F\{P_+^\lambda\} - [\sin(\lambda\pi)](-1)^{\lambda-\frac{n}{2}}(\lambda+\frac{n}{2}-m)F\{P_+^\lambda\}}{2^{2\lambda+n}(\cos(\lambda\pi)\Gamma(\lambda+(\frac{n}{2})))} + \right.$$

$$\begin{aligned}
& + \frac{[\sin(\lambda\pi)\Gamma(-\lambda)\frac{\partial}{\partial\gamma}(\lambda+\frac{n}{2}-m)F\{P_+^\lambda\}]}{2^{2\lambda+n}(\cos(\lambda\pi)\Gamma(\lambda+\frac{n}{2}))} - \frac{[\sin(\lambda\pi)\Gamma(-\lambda)(\lambda+\frac{n}{2}-m)F\{P_+^\lambda\}]}{[2^{2\lambda+n}(\cos(\lambda\pi)\Gamma(\lambda+(n/2))]^2} - \\
& - \left[\frac{2^{2\lambda+n}2\ln 2(\cos(\lambda\pi)\Gamma(\lambda+\frac{n}{2})-\pi 2^{2\lambda+n}(\sin(\lambda\pi)\Gamma(\lambda+\frac{n}{2}))+2^{2\lambda+n}(\cos(\lambda\pi)\Gamma(\lambda+\frac{n}{2}))}{[2^{2\lambda+n}(\cos(\lambda\pi)\Gamma(\lambda+(n/2))]^2} \right] \quad (58)
\end{aligned}$$

Now using that

$$\lim_{\lambda \rightarrow -(\frac{n}{2}-m)} \left(\lambda + \frac{n}{2} - m \right) \{P_+^\lambda\} = Res\{P_+^\lambda\}_{\lambda=(\frac{n}{2}-m)} = \frac{(-1)^{\frac{n}{2}-m-1}}{(\frac{n}{2}-m-1)!} \delta^{(\frac{n}{2}-m-1)}(P) \quad (59)$$

$$\lim_{\lambda \rightarrow -(\frac{n}{2}-m)} \frac{\partial}{\partial\gamma} \left(\lambda + \frac{n}{2} - m \right) \{P_+^\lambda\} = P.f \{P_+^\lambda\}_{\lambda=m-\frac{n}{2}} = P_+^{m-\frac{n}{2}} \quad (60)$$

$$\text{and } \lim_{\lambda \rightarrow -(\frac{n}{2}-m)} \sin(-\lambda\pi) = 0 \quad (61)$$

$$\lim_{\lambda \rightarrow -(\frac{n}{2}-m)} \cos(-\lambda\pi) = \cos((n/2) - m)\pi = (-1)^m (-1)^{\frac{n}{2}} \quad (62)$$

$$\lim_{\lambda \rightarrow -(\frac{n}{2}-m)} \Gamma(-\lambda) = \Gamma\left(\frac{n}{2} - m\right), \frac{n}{2} \geq m, \quad (63)$$

We have

$$Q(y)^{-m} = P.f \{Q^{\lambda-\frac{n}{2}}\}_{\lambda=-(m-\frac{n}{2})} = a_{v,\pi} \frac{(-1)^{\frac{n}{2}-m-1} (-\pi) 2^{-2m}}{\Gamma(m)} \delta^{(\frac{n}{2}-m-1)}(P) \quad (64)$$

From(56)and considering (64),we obtain that

$$E=F^{-1}\{(-1)^{-m}Q(y)^{-m}\} = \frac{1}{(-1)^{\frac{\mu-1}{2}} \pi^{\frac{n}{2}-1}} \frac{1}{\Gamma(m)2^{2m}} \cdot \delta^{(\frac{n}{2}-m-1)}(P) \quad (65)$$

is elementary solution of the equation (18) for n even(μ and v are both odd) and $m < (n/2)$.

5. CONCLUSION

It's clear from (24) that if $u(x_1, \dots, x_n) = E(x_1, \dots, x_n)$ is elemental solution of the L_p^m then the solution of the equation (18) is given by the following formula

$$u = u(x_1, \dots, x_n) = f(x_1, \dots, x_n) * E, \quad (66)$$

for $f(x_1, \dots, x_n)$ generalized function with compact support ,where the symbol $*$ we means convolution and E is defined in the following form:

$$E(x_1, \dots, x_n) = A_{m,n} = P_+^{m-\frac{n}{2}} \text{ if } n \text{ is odd, } m < \left(\frac{n}{2}\right) \text{ and } m > (n/2), \quad (67)$$

$$E(x_1, \dots, x_n) = B_{m,n} P_+^{m-\frac{n}{2}} + C_{m,n} \delta^{\left(\frac{n}{2}-m-1\right)}(P) \text{ if } n \text{ is even, } m < \left(\frac{n}{2}\right), \mu \text{ and } \nu \text{ are both even,} \quad (68)$$

$$E(x_1, \dots, x_n) = D_{m,n} P_+^{m-\frac{n}{2}} - F_{m,n} P_+^{m-\frac{n}{2}} \ln P_+ \text{ if } n \text{ is even, } m \geq (n/2), \mu \text{ and } \nu \text{ are both even,} \quad (69)$$

$$E(x_1, \dots, x_n) = G_{m,n} P_+^{m-\frac{n}{2}} \text{ if } n \text{ is even, } m \geq (n/2), \mu \text{ and } \nu \text{ are both odd} \quad (70)$$

and

$$E(x_1, \dots, x_n) = H_{m,n}(P) \delta^{\left(\frac{n}{2}-m-1\right)} \text{ if } n \text{ is even, } m < (n/2), \mu \text{ and } \nu \text{ are both odd.} \quad (71)$$

where

$$A_{m,n} = \frac{(-1)^m \Gamma((n/2)-m)}{2^{2m} \Gamma(m)} \frac{(-1)^{\frac{\nu}{2}}}{\pi^{\frac{n}{2}}}, \text{ } n \text{ odd, } m < \left(\frac{n}{2}\right) \text{ and } m > \left(\frac{n}{2}\right), \quad (72)$$

$$B_{m,n} = \frac{(-1)^m \Gamma((n/2)-m)}{2^{2m} \Gamma(m)} \frac{(-1)^{\frac{\nu}{2}}}{\pi^{\frac{n}{2}}}, \text{ } n \text{ even, } m < \left(\frac{n}{2}\right), \mu \text{ and } \nu \text{ are both even,} \quad (73)$$

$$C_{m,n} = \frac{(-1)^m}{(-1)^{\frac{\nu}{2}} 2^{2m} \Gamma(m)} \frac{(-1)^{\frac{\nu}{2}}}{\pi^{\frac{n}{2}}} \left[\psi\left(\frac{n}{2} - m\right) + 2 \ln 2 + \psi(m) \right] \text{ if } n \text{ even, } m < \left(\frac{n}{2}\right), \mu \text{ and } \nu \text{ are both even,} \quad (74)$$

$$D_{m,n} = \frac{(-1)^{\frac{n}{2}}}{(m-\frac{n}{2})! 2^{2m} \Gamma(m)} \frac{(-1)^{\frac{\nu}{2}}}{\pi^{\frac{n}{2}}} \cdot \left[\psi\left(m - \frac{n}{2} + 1\right) + 2 \ln 2 + \psi(m) \right] \text{ if } n \text{ is even, } m \geq (n/2), \mu \text{ and } \nu \text{ are both even,} \quad (75)$$

$$F_{m,n} = \frac{(-1)^{\frac{n}{2}}}{(m-\frac{n}{2})! 2^{2m} \Gamma(m)} \frac{(-1)^{\frac{\nu}{2}}}{\pi^{\frac{n}{2}}} \text{ if } n \text{ is even, } m \geq (n/2), \mu \text{ and } \nu \text{ are both even,} \quad (76)$$

$$G_{m,n} = \frac{1}{(-1)^{2^{2m} \Gamma(m) \Gamma(1+m+(n/2))} (-1)^{\frac{\nu-1}{2}} (-1)^{m-\frac{n}{2}} \pi^{\frac{n}{2}-1}} \text{ if } n \text{ is even, } m \geq (n/2), \mu \text{ and } \nu \text{ are both odd} \quad (77)$$

and

$$H_{m,n} = \frac{1}{2^{2m} \Gamma(m)} \frac{(-1)^{\frac{\mu-1}{2}}}{\pi^{\frac{n}{2}-1}} \text{ if } n \text{ is even, } m < (n/2), \mu \text{ and } \nu \text{ are both odd.}$$

REFERENCES

Aguirre Manuel A. 2010. New formulae about the residue of distributions P_{\pm}^{λ} , Nexo Revista Científica, 22. 32-42.

Aguirre, Manuel A. 2015. The Fourier transform of P_+^λ and P_-^λ , International Journal of Mathematics, 105 (02).

Erdelyi A, Ed. 1953. Higher Trascendental Functions, Vol.I, and II, McGraw-Hill,New York.

Gelfand I. M. and Shilov G.E. 1964. Generalization Functions,Vol.I, Academic Press, New York.

SEMBLANZA DE LOS AUTORES

Manuel Antonio Aguirre, P.H.D. in Mathematical Science, University of Buenos Aires(U.B.A.), Argentina, Titular Teacher Facultad of Exact Sciences,UNICEN(retired), Academic of National Academy of Buenos Aires, “Doctor Honoris Causa”(UNAN-Managua, Nicaragua), Specialty in Functional Analysis and distributions theory with 110 published article.

Emilio Andrés Aguirre Rébora. Master in Modelling Mathematic and Computational, University of Valladolid, España, Graduate in Mathematic in Exact Sciences, UNICEN, Argentina, researcher of Institute NICE Facultad de Ciencias Exactas UNICEN, Argentina.